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Can find a well-ordering for pure words

Can’t do this in general for words with variables

For an identity ap = Ok, assuming ay > [k, we have the
reduction oy — [y.
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Definition

A set of reductions is complete if for any irreducible words

« # 3, we have a Z f.
Complete iff the lattice condition holds:
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Superpositions

0-()\17 M, )\2)

A1 and Ao are words

1 is a subword of Ao
m )\ “looks like” u

Replace the p in Ag with A\; to get o(A1, 1, A2)
m (A, 14, A2) must “look like” Ao
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a -a — e (2)
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etc.




Until finally. ..

(1) e a
2) a -a
3 (a-b)-c
(4) a”-(a-b)
(8) a-e
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